1. How many digits of 1 we will see in result after addition? [3 points]
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2. Each row in the school amphitheater has 33 seats. Starting from row 12 till 22 are reserved for
guests of a sports club. How many seats are reserved for this club?
[3 points]
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A) 297 B) 330 C) 363 D) 396 E) 726

3. IfABC+AB=392,A+B+Cwill be: [3 points]
@mcﬁg ABC + AB = 392 @ogoﬂé A+ B+ C qooden

A) 19 B) 15 C) 11 D)9 E)7

4. 25 children took part in a Mathemania competition. The number of children who
finished behind Raul was twice as large as the number of children who were
moresuccessful than him. In which place did Raul finish? [3 points]
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A) Sixteenth B) Seventeenth C) Eighth D) Ninth E) Tenth

5. There are 3 sisters in one room, each of the sisters has 3 bags, in each of the bags there are 3
cats, each cat has 3 kittens. How many feet are in the room? [4 points]
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On a board are written all the natural numbers from 1 to 50. Matthew chooses some numbers
from them so that the sum of any two distinct numbers chosen is not divided by 7. At most how
many numbers you can choose? [4 points]
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In a certain month, three days of Sunday fell in data expressed by even numbers. On what day of
the week does the 4th of this month fall? [4 points]
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If @ (n) represents the sum of the digits of the number "n", for how many numbers of two
digits @ (@ (n)) =37 [5 points]
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If 32n+14+ 32n+3= 2430, then the value of the number 8-nis: [5 points]
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A) 8 B) 16 C) 32 D) 64 E)O



10. Five girls weighed themselves in pairs in all possible combinations. The measured
weights were 90kg, 92kg, 93kg, 94kg, 95kg, 96kg, 97kg, 98kg, 100kg and 105kg. The
total weight of the five girls was: [5 points]
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A) 225 kg B)230kg  C)239kg D)240kg  E)250kg



